

**Lecture 2**

# **Propositional Logic**

Zvonimir Rakamarić  
University of Utah

# Announcements

- ▶ Subscribe to the course mailing list at <https://sympa.eng.utah.edu/sympa/info/fcs>

# Syntax of Propositional Logic (PL)

truth\_symbol ::=  $\top$  (true),  $\perp$  (false)

variable ::=  $p, q, r, \dots$

atom ::= truth\_symbol | variable

literal ::= atom |  $\neg$ atom

formula ::= literal |  
           $\neg$ formula |  
          formula  $\wedge$  formula |  
          formula  $\vee$  formula |  
          formula  $\rightarrow$  formula |  
          formula  $\leftrightarrow$  formula

# Examples of PL Formulae

$$F: \top$$

$$F: p$$

$$F: \neg p$$

$$F: (p \wedge q) \rightarrow (p \vee \neg q)$$

$$F: (p \vee \neg q \vee r) \wedge (q \vee \neg r)$$

$$F: (\neg p \vee q) \leftrightarrow (p \rightarrow q)$$

$$F: p \leftrightarrow (q \rightarrow r)$$

# Semantics

- ▶ Semantics provides *meaning* to a formula
  - ▶ Defines mechanism for evaluating a formula
  - ▶ Formula evaluates to truth values *true/1* and *false/0*
- ▶ Formula  $F$  evaluated in two steps
  - 1) Interpretation  $I$  assigns truth values to propositional variables  
 $I : \{p \mapsto \text{false}, q \mapsto \text{true} \dots\}$
  - 2) Compute truth value of  $F$  based on  $I$  using e.g. truth table
- ▶ formula  $F$  + interpretation  $I$  = truth value

# Notation

- ▶ Let  $F$  be a formula and  $I$  an interpretation...
- ▶  $I[F]$  denotes evaluation of  $F$  under  $I$
- ▶ If  $I[F] = \text{true}$  then we say that
  - ▶  $F$  is true in  $I$
  - ▶  $I$  satisfies  $F$
  - ▶  $I$  is a model of  $F$and write  $I \models F$
- ▶ If  $I[F] = \text{false}$  we write  $I \not\models F$

# Example

$$F: (p \wedge q) \rightarrow (p \vee \neg q)$$

$$I: \{p \mapsto 1, q \mapsto 0\}$$

(i.e.,  $I[p] = 1, I[q] = 0$ )

$p$	$q$	$\neg q$	$p \wedge q$	$p \vee \neg q$	$F$
1	0	1	0	1	1

$F$  evaluates to *true* under  $I$  or  $I[F] = \text{true}$  or  $I \models F \dots$

# Satisfiability and Validity

- ▶  $F$  is satisfiable iff (if and only if) there exists  $I$  such that  $I \models F$ 
  - ▶ Otherwise,  $F$  is unsatisfiable
- ▶  $F$  is valid iff for all  $I$ ,  $I \models F$ 
  - ▶ Otherwise,  $F$  is invalid
- ▶ We write  $\models F$  if  $F$  is valid
- ▶ Duality between satisfiability and validity:  
 $F$  is valid iff  $\neg F$  is unsatisfiable

Note: only holds if logic is closed under negation



# Equivalence

- ▶ Two formulae  $F_1$  and  $F_2$  are equivalent, denoted by  $F_1 \Leftrightarrow F_2$ , iff they have the same models

# Normal Forms

- ▶ Negation Normal Form (NNF)
  - ▶ Only allows  $\neg$ ,  $\wedge$ ,  $\vee$
  - ▶ Negation only in literals
- ▶ Disjunctive Normal Form (DNF)
  - ▶ Disjunction of conjunction of literals:

$$\bigvee_i \bigwedge_j l_{i,j}$$

- ▶ Conjunctive Normal Form (CNF)
  - ▶ Conjunction of disjunction of literals:

$$\bigwedge_i \bigvee_j l_{i,j}$$

# Negation Normal Form

To transform  $F$  into  $F'$  in NNF recursively apply the following equivalences:

$$\neg\neg F_1 \Leftrightarrow F_1$$

$$\neg\top \Leftrightarrow \perp$$

$$\neg\perp \Leftrightarrow \top$$

$$\neg(F_1 \wedge F_2) \Leftrightarrow \neg F_1 \vee \neg F_2$$

$$\neg(F_1 \vee F_2) \Leftrightarrow \neg F_1 \wedge \neg F_2$$

$$F_1 \rightarrow F_2 \Leftrightarrow \neg F_1 \vee F_2$$

$$F_1 \Leftrightarrow F_2 \Leftrightarrow (F_1 \rightarrow F_2) \wedge (F_2 \rightarrow F_1)$$

# Example

$$F: p \leftrightarrow (q \rightarrow r)$$

# Conjunctive Normal Form

To transform  $F$  into  $F'$  in CNF first transform  $F$  into NNF and then recursively apply the following equivalences:

$$(F_1 \wedge F_2) \vee F_3 \Leftrightarrow (F_1 \vee F_3) \wedge (F_2 \vee F_3)$$

$$F_1 \vee (F_2 \wedge F_3) \Leftrightarrow (F_1 \vee F_2) \wedge (F_1 \vee F_3)$$

(Note: a disjunction of literals is called a clause.)

# Example

$$F: p \leftrightarrow (q \rightarrow r)$$

# Exponential Blow-Up

- ▶ Such a naïve transformation can blow-up exponentially (in formula size) for some formulae
  - ▶ For example: transforming from DNF into CNF

# Tseitin Transformation [1968]

- ▶ Used in practice
  - ▶ No exponential blow-up
  - ▶ CNF formula size is linear wrt original formula
- ▶ Does not produce an equivalent CNF
- ▶ However, given  $F$ , the following holds for the computed CNF  $F'$ :
  - ▶  $F'$  is equisatisfiable to  $F$
  - ▶ Every model of  $F'$  can be translated (i.e., projected) to a model of  $F$
  - ▶ Every model of  $F$  can be translated (i.e., completed) to a model of  $F'$
- ▶ No model is lost or added in the conversion



# Tseitin Transformation – Main Idea

- ▶ Introduce a fresh variable  $e_i$  for every subformula  $G_i$  of  $F$ 
  - ▶  $e_i$  represents the truth value of  $G_i$
- ▶ Assert that every  $e_i$  and  $G_i$  pair are equivalent
  - ▶ Assertions expressed as CNF
- ▶ Conjoin all such assertions in the end

# Example

$$F: p \leftrightarrow (q \rightarrow r)$$

